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pusiness. 1t was deci
at they 5 Y i
¥ Would bring in sufficient cash to double

|['|| 1h
their respective capitgle

1 = T ] = .
This was duly followeq by
*d by Many and Mamta but due to unaveidable

dogp : ; .

Wectrall i | 0580 and 1l]1]lil:ii.l.'|.:\" it was agreed that to bridge
s shortfall in the required e ‘

the s . : © required capital a rew partner should be admitted who

would bring in the amount that Moti could not bring and that the new

reasons Moti could net

p.?.j-{.nm' “‘l_ﬂtllj et share of J.”_“['”!: f"i|_L'I‘r.I.L to ]I'I:'ll[l of Moti’s share which
“Tﬂll]d I-Jl‘.' f“-:“'l'HI!‘i':g ]}.'\' _\|r|.['| hl]|"‘.'_

ﬁ'ﬁnsequm to this agreement Malini was admitted and
B

ﬂf’e rcquirm] capital an ¥ 30,00,000 as premium for goodwill

she brought n

Jaring ratio of Manu, Mamta, Moti and

That will be the new profit sl

] e A
* Malilni ? (b) 5:5:8: 8 x'J %
B 1:1: ] os e D

) 5:5:4:4
- ool vill of the {irm 4
3, What is the \';al._-.-clf"]'!".—' , (h) ?],50,30,000
” (d) . % 1,50,0'[],()'30

L|:|!|I.|

(a:] ? ].-‘;-":,["l
g T 20.00,00U
: page 13
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PART - 11
SROTION - A

o

Instructions : From Question Biimber &7 b2, attempt gy, | questions
37. Given helow are two statements, 2D labelled \ssertion | A) and li'n.-
other labelled as Reason (R): :
Assertion (A) : Current Ratio Efﬁli'i'l'f“l“* telationship hetwo s, o
Assets and Current Liabilities.
Reason (R) : The !;‘l)jecti.\’e of this l‘ifljiu 1L- W0 measure the nlilit of the
firm to meet 16s S;ID!‘t EB]'ITl _Q_b]‘lga{’lq:'"ﬁ as angd \'.'hl‘ll due without
e relving upon the realisation of inventories.
In the context of the above two statements choose the corye aptions
(a) (A)is true but (R) 1s false.
(b) Both (A) and (R) ave true, and (R) is a correct explanation of (A).
(¢) Both (A) and (R) are false.
(d) (A)is false, but (R) is true.
38. Maftch the items given in Column I,r.,“'ﬁll"ﬂm Gorrect heading/sub-heading
given in Column I1.
[ p 11
A. 9% Debenture redeemable i. Intangible assets
during the current year '
B. Loose {ools 1. Current liabilities
C. Copyright iii. Cash and Cash equivalents
D. Cash at bank iv. Inventories
A B N
@) b1 i 1 iy
B o i v @y
@ v Hi i
(d). i v 1 11i

89. What will be the impact of issuing % 9,00,000 equity shares to vendors for
Building purchased on the debt and equity of X Litd. ?
(a) Debt will increase and equity will decrease.
(b) Debt will remain same and equity will increase.

{0 Debt will decrease and equity will increase.

wmﬂ) Debt will remain same and 3‘1“’% i decrease.

AN
e
DEWyd .IL: !
o b Be Base 14
o =

)

yatioe indy i
/;‘;m'fm'nw._ll_
wﬂ .'[-’1'|.';filu abilify

':34)( Murnaver
i colvency
(®)

(@

paquidity

y IE:' 2 "'nt‘l ng aling
F 3y N
..Clp

. 20%
e -V
B 35%
-#(clﬂ 5

41

iﬂ:)ncml
st.atcm[’m..-: :
(a) Analysis,

(E;) Preparall

2 ¥

In’st:‘uctiuna - ¥

43. From the fi
Met profit
10% Debe

I Rate
& 1.2

e 21

y

44, Given b
other ¢
Assert
Reaso

In the
@) ¢
(©)

0871274



ratios 1T |
Y-
Al

i Ging pﬂ-lim M.
ol ”},,
‘IIIJ' I T 1l ]]1|]”-\_ h““'-‘ll
[];J Turnover i Whigl,
" Aetivifins
h-,l Solvency Wilies of the business ure
() Liquidity
Al anl"‘l’rif“l" ratio I8 (5.
[ 20% A
E-’ﬂ 0 ]IE'-I'-H
fc), 36% 18 prog; it
: atio will be
(h) 2505
4 1-‘”1:”1:-1:1] statemeny (d) 509
statements : Malyei.
3 “l
(a) Analysis, p Hdes - :
= Prepay, alion. —— and _. of financial
{c) reparation. analye m P
7 V&ig [ : Preparation, interpretation
4) Analysis, mierpretation
I'Hil’] £ Il

SECTI(
]uslru(.'[lﬂl‘-l‘-: From Question N ] 10N -
umber
er 43 {0 48, attempt any 5 questions.
From the following infi :
Ilowing information, caleulate Tnterest Con e
- tyia rest woverage atio -
¥ 6.00,000 Ak ACE

43,
Net profit after tax
0% Debentures T 50,00,000
lax Rate 40%
@ 1.2 times (b) 3 times
{c) 2 times (d) 5 times

g, one

labelled as Asser%ﬂﬁ‘ (ﬁ) and the

wi state qnent

4. Gwven below are !
other labelled as Reason (R):
Assertion (A) : Al igh deht- n*l uity ratio s risky. §8
Bes =N - The fiTE difficulty to paj‘long torm debts.

‘lc !‘l It ke .1. 15 |I n
I . - i he above LWES (atements choose the ‘correct option.
5, vl O i-f-]”"L )
l%f.-]lt Lnlnh_ xt ol t (R) is WIong (L) Both (A) and (R) are correct.
f{al {ﬁk) e 5 '!” L| )18 Ccorret o T (‘-1} B{}th (A) and (k) are Wrong.
£ (A) is wrong Bub AssA =
page 15
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- of 4 company was 9500

00,000 and ifs cash reyve
of the tota] revente

Its eredit re

nue figy ape

rations:
from operations. If i}, ndiyeg expenses of the

cOmpany were ¥ 50,000, its net profit ratio will |, ;

ion, calculate Inven; ory Turnover ratio -

@ 10 times
(€ 12 times
@) 20 times

2022 How would this mfa

rma € presented in the Byl
81%t March, 2021, |

ance Sheet as at

(@) 28,00,000 as Loy




18,

rlj\-p” hl*Jl'\\‘- A
ara
abele alk

AT &

Othey | .|1.,”“_:|1_\.

] v O [—'IIII\-”[‘I! L] .‘\:;_‘L;g}rh'nn [3\} arid Ly
-'\l.":!-;[}r

: "Cason (g
lioy (A) Y
: : Ry g [} I
funds by bugis. I o
AT = 0Nt TPt

Ason (Ry . y

| (t} =) Measyreg veturn (Neg Profit be
ota] finds (Capita) (EEY
In the

Hng |he overall utilization of
f\"‘x 150,

fore interest and tax) on
Zlirﬁ_\.'-'-||.l_
COn ey of |

hr‘?sn st
(a)

foth (A) ang ()
(A),

()  Both (A)
(c)
(d)

dlements, choggs the correct option.

ara re, |'IIII. (R} & ot thi

correct explanation.of
and (R) ape
Both (A) and (R are false
(A)is false. but (1

true and (R) is correot explanation of (A).

¥)is trup

PART _ 111
SECTION - A

Instructions : From Queﬁg\{ﬁnﬁﬁumhﬁr 49 to 54, attempt

b -\,} L
49. *“Data, people and pmééﬂ]ﬁ;-
accounting syste

.‘B"mmﬁf?tbemmmg components from the state

any 4 questions.

€ are some of the components of computerized

ment.
(a Users s
(b) Hardware and Softwe

(c) Logical sequence

(d) Timely access

50. Codification is needed for

LF 8 B [ . dES.
( ) tfll’ "‘I']|I'f'f||]| 1 0 mnemaonic co
i | g =

(b) the encryption of data.
ecure the accounting reports.
((".) 1o 56e(

= jeeping o ‘l’.'[f[”'f].'.
] 1 IJ|I. |'!'J[;I ;f“ﬁl tﬂ.‘L‘-I.]J“'l._f 0l
VICPRERINY ] [
oy DIOCe: 1
fd) Bt _]I- f

P:T.o,
Page 17
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F ol el feature ol computerized aecounting
e following 15 1

svistem 7

{a)  Simple and Integrated
(h)
(c)

Aceur

2y and Speed

he use of resources.

36, Which key wi

(d)- 0 (a) [Cirl)
nly

(b) (Al
- (©  (Shife)
53. Which of the following ¢ limitation of low. @ Esdy

secrecy level and s
57. How mar

(a) 6&F

(h) S{E@Jﬁc &) 95
B
@g ﬂ:‘aﬂt}red 4@ 5
(d) Both (a) and (b) (&) 2
54. “A value or function o '_ on .j's recorded in _ ‘ How
; s a v
(a) row

AL



PART _ 111
I'n.‘-illﬁllf‘-t.]-[]“s ' "\!‘(--]“L\'— 5

'm L-|:'|!-'-.. )

~ e _ Linn :‘\'nmlu-.r 55 to GO, aVempy Ry oiguctkiens:
D5, fd-‘m.ll'_v f.‘!‘nm the f;
et of L thm'mu_ What will be “isplayed on thERGTEERNTEES S
U Co-6rdin. 1 - =2 |
. Mates that 4 cell Yeeupies on a worksheet is invalid.
a bt
(a8) Qg rect # NUM 1 Error |
N | .d.
(b) {.m-w_-m.f# RER Errar
©)  Correct # VALUE ! Error v
(d) Correct # DIVI0 ! Brror
56.

Which key when pressed displays the access keys ?
(a) [Ctxl]
(b) [Alt]
(c) [Shift]
(d) [Esc] %
I'|
57. How many rows are available in Rxcel 2007 2
(a) 65536
(b) 256
(¢) D663

i 1 .ll]q“t '.-1’-- :hl-l
F o % st ﬁ“[‘ld CE ” {][ { 5
f -l ] T\I-' "|-l '|[]‘”n ['i!T]il1ll:i.l:‘li [I]'f]rn ﬁ]‘St to tlhe la
i _] v 1s INavip: 5 eYs
,;_;118. oy .
-‘ a 1row ])\" :-'I{ilf)]]ill}_{ -'!H {LE‘]I.‘:'- 111 hetween

(a) END + Right arrow (=)
(b)
(c)
(d) Inser

CTRL + Right arrow (=) successively
/ vla vV b

CTRL + HOME

t + HOME

P.T.O.
Page 19
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?

(b)
(c)t

(d)

at1s the result for functions used on cell data mentioned below :

Bl =2 1475949

2.15, 2.20
2.15, 2.10

to 1de

ntify




